

## ON GENERATORS AND NONLINEAR SEMIGROUPS IN BANACH SPACES\*

KI SIK HA AND JONG SOO JUNG

### 1. Introduction

Let  $E$  be a real Banach space and let  $C$  be a subset of  $E$ . Let  $S(t) : C \rightarrow C$  be a continuous semigroup of type  $\omega$ , which we denote by  $S \in Q_\omega(C)$ . The following is the well-known problem: Does there exist an operator  $A$  which generates  $S$  via the exponential formula:

$$S(t)x = \lim_{n \rightarrow \infty} (I + \frac{t}{n}A)^{-n}x$$

for every  $x \in C$ ? For the Hilbert space  $H$  and  $S \in Q_0(H)$ , the problem was completely solved positively by Komura [9, 10]. In case that  $C$  is a closed convex subset of  $H$  and  $S \in Q_0(C)$ , the proof was simplified by Kato [9]. We also find the proof in [3]. On the other hand, in [5], Crandall and Liggett proved that if  $C$  is a closed convex subset of a finite dimensional Banach space and  $S \in Q_0(C)$ , then there exists an operator  $A$  which generates  $S$  via an exponential formula. Baillon [1] established an existence theorem of an operator  $A$ , which was conjectured by Komura, under the assumption that  $C$  is a closed convex subset of a uniformly smooth Banach space and  $S \in Q_\omega(C)$ . In particular, Reich [14] showed that if  $C$  is a closed convex subset of a reflexive Banach space with a uniformly Gâteaux differentiable norm and  $S \in Q_0(C)$ , then there is a unique operator  $A$  which generates  $S$  via the exponential formula.

In this paper, we prove the existence of an operator  $A$  under assumption that  $C$  is a closed convex subset of a Banach space with a uniformly Gâteaux differentiable norm and  $S \in Q_\omega(C)$ . The idea of our proof is essentially due to the work [1] of Baillon. However our proof is of interest in view of use of Banach limit.

---

Received January 18, 1988.

\*This research was supported by Korea Science and Engineering Foundation 1987.

## 2. Preliminaries

Let  $E$  be a real Banach space with norm  $\|\cdot\|$  and let  $E^*$  be its dual. Let  $U = \{x \in E : \|x\| = 1\}$  be its unit sphere. The norm of  $E$  is said to be Gâteaux differentiable (and  $E$  is said to be smooth) if

$$\lim_{t \rightarrow 0} (\|x + ty\| - \|x\|) / t \tag{2.1}$$

exists for each  $x, y \in U$ . It is said to be Fréchet differentiable if for each  $x \in U$ , this limit is attained uniformly for  $y \in U$ . The norm is said to be uniformly Gâteaux differentiable if for each  $y \in U$ , the limit (2.1) exists uniformly for  $x \in U$ . The space  $E$  is said to have a uniformly Fréchet differentiable norm (and  $E$  is said to be uniformly smooth) if the limit is attained uniformly for  $(x, y) \in U \times U$ . Every Banach space with a uniformly convex dual has a uniformly Gâteaux differentiable norm, but there are reflexive Banach spaces with a uniformly Gâteaux differentiable norm that are not even isomorphic to a uniformly smooth space (cf. [12, p. 149]).

Recall that the duality map  $J$  from  $E$  into the family of nonempty (by the Hahn-Banach theorem) weak-star compact subsets of  $E^*$  is defined by

$$J(x) = \{x^* \in E^* : (x, x^*) = \|x\|^2 = \|x^*\|^2\}$$

for each  $x \in E$ . If  $\phi(x) = \frac{1}{2}\|x\|^2$ ,  $J$  coincides with the subdifferential  $\partial\phi$  of  $\phi$ :

$$J(x) = \{x^* \in E^* : (z, x^*) \leq \frac{1}{2}\|x+z\|^2 - \frac{1}{2}\|x\|^2 \text{ for every } z \in E\}$$

(cf. [2]). It is well-known that if  $E$  is smooth, then  $J$  is single valued. It is also known that if  $E$  has a uniformly Gâteaux differentiable norm,  $J$  is uniformly continuous on bounded subsets of  $E$  from the strong topology of  $E$  to the weak-star topology of  $E^*$  (cf. [6, 7]).

Let  $S$  be a directed set, and let LIM be a Banach generalized limit. Then, if  $\{x_\alpha : \alpha \in S\}$  is a bounded subset of  $E$ , we can define the real valued continuous convex and coercive function  $\phi$  on  $E$  by

$$\phi(z) = \text{LIM} \|x_\alpha - z\|^2.$$

By the methods of [13], we obtain the following.

**LEMMA 2.1.** *Let  $C$  be a nonempty closed convex subset of a real Banach space  $E$  with a uniformly Gâteaux differentiable norm, and let  $S$  be a*

On generators and nonlinear semigroups in Banach spaces

directed set, let  $\{x_\alpha : \alpha \in S\}$  be a bounded set of  $E$ , and let LIM be a Banach generalized limit. Let  $u \in C$ . Then  $\phi$  attains its minimum over  $C$  at  $u$  if and only if

$$\text{LIM}(z-u, J(x_\alpha-u)) \leq 0 \quad (2.2)$$

for all  $z \in C$ , where  $J$  is the duality map of  $E$ .

*Proof.* For  $z \in C$  and  $t \in (0, 1)$ , we have

$$\|x_\alpha - u\|^2 \geq \|x_\alpha - u - t(z-u)\|^2 + 2t(z-u, J(x_\alpha - u - t(z-u))).$$

Let  $\varepsilon > 0$  be given. Since the norm of  $E$  is uniformly Gâteaux differentiable, the duality map  $J$  is uniformly continuous on bounded subsets of  $E$  from the strong topology of  $E$  to the weak-star topology of  $E^*$ . Therefore,

$$|(z-u, J(x_\alpha - u - t(z-u)) - J(x_\alpha - u))| < \varepsilon$$

if  $t$  is close enough to 0. Consequently, we have

$$\begin{aligned} (z-u, J(x_\alpha - u)) &< \varepsilon + (z-u, J(x_\alpha - u - t(z-u))) \\ &\leq \varepsilon + \frac{1}{2t} \{ \|x_\alpha - u\|^2 - \|x_\alpha - u - t(z-u)\|^2 \} \end{aligned}$$

and hence

$$\text{LIM}(z-u, J(x_\alpha - u)) \leq \varepsilon + \frac{1}{2t} \{ \text{LIM} \|x_\alpha - u\|^2 - \text{LIM} \|x_\alpha - u - t(z-u)\|^2 \} < \varepsilon.$$

Therefore we have  $\text{LIM}(z-u, J(x_\alpha - u)) \leq 0$ . Conversely, suppose (2.2) holds. Let  $z, u \in C$ . Then, since

$$\|x_\alpha - z\|^2 - \|x_\alpha - u\|^2 \geq 2(u-z, J(x_\alpha - u))$$

for all  $\alpha \in S$ , we have

$$\phi(u) = \text{LIM} \|x_\alpha - u\|^2 = \min_{z \in C} \{ \text{LIM} \|x_\alpha - z\|^2 \}$$

and completes the proof.

If  $A$  is a subset of  $E \times E$  and  $x \in C$ , we let  $Ax = \{y \in E : [x, y] \in A\}$ ,  $D(A) = \{x \in E : Ax \neq \emptyset\}$ , and  $R(A) = \cup \{Ax : x \in D(A)\}$ . Its inverse is defined by  $A^{-1}y = \{x \in E : y \in Ax\}$ .  $A$  is called accretive if for all  $x_i \in D(A)$ ,  $y_i \in Ax$ ,  $i=1, 2$  and  $r > 0$ ,  $\|x_1 - x_2\| \leq \|x_1 - x_2 + r(y_1 - y_2)\|$ .  $A$  is accretive if and only if for each  $x_i \in D(A)$  and  $y_i \in Ax_i$ ,  $i=1, 2$ , there exists  $j \in J(x_1 - x_2)$  such that  $(y_1 - y_2, j) \geq 0$ . Let  $I$  denote the identity operator. If  $A$  is accretive, we can define, for  $r > 0$ , the resolvent of  $A$ ,  $J_r : R(I + rA) \rightarrow D(A)$  by  $J_r = (I + rA)^{-1}$ .

A continuous semigroup of type  $\omega$  ( $\omega \in R$ ) on a subset  $C \subset E$  is a function  $S(t) : C \rightarrow C$  satisfying the following conditions:

$$\begin{aligned} S(t_1+t_2)x &= S(t_1)S(t_2)x && \text{for } t_1, t_2 \geq 0 \text{ and } x \in C, \\ \|S(t)x - S(t)y\| &\leq e^{\omega t} \|x - y\| && \text{for } t \geq 0 \text{ and } x, y \in C, \\ \lim_{t \downarrow 0} S(t)x &= S(0)x = x && \text{for } x \in C. \end{aligned}$$

We denote by  $S \in Q_\omega(C)$ . If  $\omega = 0$ ,  $S(t)$  is said to be a continuous semigroup of nonlinear contractions. The strong (negative) generator  $A_0$  of  $S(t)$  on  $C$  is defined by

$$A_0x = \lim_{t \downarrow 0} (x - S(t)x) / t \text{ for } x \in D(A_0),$$

where  $D(A_0) = \{x \in C : \lim_{t \downarrow 0} (x - S(t)x) / t \text{ exists}\}$ .

Let  $B$  be a subset of  $E$ . Then we denote by  $\text{cl}(B)$  the closure of  $B$  and  $\overline{\text{co}}(B)$  its closed convex hull.

We conclude this section with the following well-known results.

**THEOREM 2.1** [5]. *Let  $A$  be an operator in a real Banach space  $E$ . Let  $\omega \in \mathbb{R}$  such that  $(A + \omega I)$  is accretive. If  $R(I + \lambda A) \supset \text{cl}(D(A))$  for small enough  $\lambda > 0$ , then*

$$S(t)x = \lim_{n \rightarrow \infty} \left( I + \frac{t}{n} A \right)^{-n} x \tag{2.3}$$

*exists for all  $x \in \text{cl}(D(A))$  and  $t > 0$ . Moreover,  $S \in Q_\omega(\text{cl}(D(A)))$ .*

**THEOREM 2.2** [4, 5, 12]. *In addition to the conditions of Theorem 2.1, suppose that*

- (a)  $R(I + \lambda A) \supset \overline{\text{co}}(D(A))$  for all small enough  $\lambda > 0$ ,
- (b)  $A$  is a closed subset of  $E \times E$ .

*Then for all  $x \in D(A)$  and  $T \in [0, \infty)$ , the following are equivalent:*

- (i)  $u(t)$  is a strong solution of

$$\frac{du(t)}{dt} + Au(t) \ni 0 \quad \text{a. e. } t \in [0, T),$$

$$u(0) = x.$$

- (ii)  $u(t) = \lim_{n \rightarrow \infty} \left( I + \frac{t}{n} A \right)^{-n} x \quad t \in [0, T),$

*and  $u(t)$  is strongly differentiable a. e. on  $[0, T)$ .*

### 3. Resolvent consistency

In this Section, we prove the following result.

**THEOREM 3.1.** *Let  $E$  be a Banach space with a uniformly Gâteaux differentiable norm. Let  $C$  be a closed convex subset of  $E$  and  $S \in Q_\omega(C)$ .*

If  $S(t)x$  is uniformly continuous on bounded  $(t, x)$  sets, then for each  $x \in C$  and  $\lambda > 0$  such that  $\lambda\omega < 1$ ,

$$\lim_{t \downarrow 0} (I + \frac{\lambda}{t}(I - S(t)))^{-1}x$$

exists.

*Proof.* We first note that  $(I + (\lambda/t)(I - S(t)))^{-1}x$  does exist for all  $x \in C$  and positive  $\lambda$  and  $t$ . To see this, let  $x \in C$  and define  $T : C \rightarrow C$  by

$$Ty = \frac{t}{t+\lambda}x + \frac{\lambda}{t+\lambda}S(t)y$$

for all  $y \in C$ . Then  $T$  is a strict contraction for  $t > 0$  if  $\omega \leq 0$  and  $t \in (0, (1-\lambda\omega)/\omega]$  if  $\omega > 0$ . Therefore, for small enough  $\lambda$  and  $t$ ,  $T$  has a unique fixed point  $J_{\lambda,t}x = (I + (\lambda/t)(I - S(t)))^{-1}x$ . For a fixed  $\lambda$ ,  $J_{\lambda,t}x$  will be denoted by  $y_t$ .

For  $t > 0$ , we define

$$\alpha(t, x) = \sup \{ \|S(\tau)x - x\| : 0 \leq \tau \leq t \}.$$

We note that since  $S(t)$  is continuous,  $\lim_{t \downarrow 0} \alpha(t, x) = 0$ .

Our next step is to prove that  $\{y_t\}$  remains bounded as  $t \downarrow 0$ . Since  $S(t)y_t = (I + t/\lambda)y_t - (t/\lambda)x$ , we have for  $k \in N$

$$\begin{aligned} e^{\omega t} \|y_t - S(kt)x\| &\geq \|S(t)y_t - S((k+1)t)x\| \\ &= \left\| \left(1 + \frac{t}{\lambda}\right)y_t - S((k+1)t)x - \frac{t}{\lambda}x \right\| \\ &\geq \left(1 + \frac{t}{\lambda}\right) \|y_t - S((k+1)t)x\| - \frac{t}{\lambda} \|S((k+1)t)x - x\| \\ &= \|y_t - S((k+1)t)x\| + \frac{t}{\lambda} [\|y_t - S((k+1)t)x\| \\ &\quad - \|S((k+1)t)x - x\|]. \end{aligned}$$

Summing from  $k=0$  to  $n-1$ , we obtain

$$\begin{aligned} \|y_t - x\| &\geq e^{-\omega t} \|y_t - S(nt)x\| \\ &\quad + \frac{t}{\lambda} \sum_{k=1}^n e^{-k\omega t} [\|y_t - S(kt)x\| - \|S(kt)x - x\|]. \end{aligned}$$

If  $\omega = 0$ , we have

$$\begin{aligned} \|y_t - x\| &\geq \|y_t - x\| - \|S(nt)x - x\| \\ &\quad + \frac{t}{\lambda} \sum_{k=1}^n [\|y_t - x\| - 2\|S(kt)x - x\|] \end{aligned}$$

$$\geq \|y_t - x\| - \alpha(nt, x) + \frac{nt}{\lambda} \|y_t - x\| - \frac{2nt}{\lambda} \alpha(nt, x).$$

Thus  $\|y_t - x\| \leq \left(2 + \frac{\lambda}{nt}\right) \alpha(nt, x)$ .

Fix a positive  $T$ , define an integer  $n = n_t$  and  $\alpha_t$  by  $T = nt + \alpha_t$ ,  $0 \leq \alpha_t < t$ . Then we have

$$\limsup_{t \downarrow 0} \|y_t - x\| \leq \left(2 + \frac{\lambda}{T}\right) \alpha(T, x). \quad (3.1)$$

If  $\omega \neq 0$ , we have by the same method,

$$\begin{aligned} \|y_t - x\| &\geq e^{-n\omega t} (\|y_t - x\| - \|S(nt)x - x\|) \\ &\quad + \frac{t}{\lambda} \sum_{k=1}^n e^{-k\omega t} [\|y_t - x\| - 2\|S(kt)x - x\|] \\ &\geq \|y_t - x\| \left[ e^{-n\omega t} + \frac{t}{\lambda} \sum_{k=1}^n e^{-k\omega t} \right] \\ &\quad - \alpha(nt, x) \left[ e^{-n\omega t} + \frac{2t}{\lambda} \sum_{k=1}^n e^{-k\omega t} \right], \end{aligned}$$

so that

$$\|y_t - x\| \leq \left[ \left( e^{-n\omega t} + \frac{2t}{\lambda} \sum_{k=1}^n e^{-k\omega t} \right) / \left( e^{-n\omega t} + \frac{t}{\lambda} \sum_{k=1}^n e^{-k\omega t} - 1 \right) \right] \alpha(nt, x)$$

Thus we obtain for  $\lambda\omega < 1$ ,

$$\limsup_{t \downarrow 0} \|y_t - x\| \leq \left[ 2 + \frac{\lambda\omega e^{-\omega T}}{1 - e^{-\omega T}} \right] \frac{\alpha(T, x)}{1 - \lambda\omega}. \quad (3.2)$$

Therefore  $\{y_t\}$  is bounded as  $t \downarrow 0$ .

Let  $z \in C$ . For small enough  $t > 0$ , we have

$$\begin{aligned} e^{2\omega t} \|y_t - S(kt)z\|^2 &\geq \|S(t)y_t - S((k+1)t)z\|^2 \\ &\geq \|y_t - S((k+1)t)z + \frac{t}{\lambda}(y_t - x)\|^2 \\ &\geq \|y_t - S((k+1)t)z\|^2 \\ &\quad + \frac{2t}{\lambda} (y_t - x, J(y_t - S((k+1)t)z)). \end{aligned}$$

Summing we have

$$\begin{aligned} &\|y_t - z\|^2 \\ &\geq e^{-2n\omega t} \|y_t - S(nt)z\|^2 + \frac{2t}{\lambda} \sum_{k=1}^n e^{-2k\omega t} (y_t - x, J(y_t - S(kt)z)). \end{aligned} \quad (3.3)$$

We also note that for  $z \in C$ ,

$$\begin{aligned} &(y_t - x, J(y_t - z)) - (y_t - x, J(y_t - S(kt)z)) \\ &= \|y_t - z\|^2 + (z - x, J(y_t - z)) - \|y_t - S(kt)z\|^2 \end{aligned}$$

On generators and nonlinear semigroups in Banach spaces

$$\begin{aligned} & - (S(kt)z - x, J(y_t - S(kt)z)) \\ \leq & \|S(kt)z - z\| \{ \|y_t - z\| + \|y_t - S(kt)z\| \} \\ & + (z - x, J(y_t - z) - J(y_t - S(kt)z)) \\ & - (S(kt)z - z, J(y_t - S(kt)z)). \end{aligned}$$

Thus given  $\varepsilon > 0$ ,

$$\begin{aligned} & | (y_t - x, J(y_t - z)) - (y_t - x, J(y_t - S(kt)z)) | \\ \leq & \alpha(T, z)M_1 + | (z - x, J(y_t - z) - J(y_t - S(kt)z)) | \\ & + \alpha(T, z)M_2 < \varepsilon \quad \text{if } T \text{ is small enough.} \end{aligned} \quad (3.4)$$

Let  $\{y_{t_m}\}$  be a subsequence of  $\{y_t\}$  with  $t_m \downarrow 0$ . Then, since  $\{y_{t_m}\}$  is bounded, for a Banach generalized limit LIM through  $N = \{1, 2, \dots\}$ ; i. e., a Banach limit, we can define a real valued function  $\phi$  on  $C$  by  $\phi(z) = \text{LIM} \|y_{t_m} - z\|^2$  for each  $z \in C$ .

We will now show that if  $t_m \downarrow 0$ , then there is a subsequence of  $\{y_{t_m}\}$  that is strongly convergent.

To this end, denote  $y_{t_m}$  by  $y_m$ . Let  $L$  denote  $\inf \{\phi(z) : z \in C\}$  and consider a sequence  $\{u_j\} \subset C$  such that  $\lim_{j \rightarrow \infty} \phi(u_j) = L$  and  $\phi(u_j) \leq \phi(tu_j + (1-t)x)$  for all  $0 \leq t \leq 1$  and all  $j$ . Then, by Lemma 2.1, we have

$$\text{LIM}(x - u_j, J(y_m - u_j)) \leq 0 \quad (3.5)$$

for all  $j$ . Since  $\phi(z) \rightarrow \infty$  as  $\|z\| \rightarrow \infty$ , the sequence  $\{u_j\}$  is bounded. Thus, using (3.3) and (3.4) with  $z = u_j$  for all  $j$ , for given  $\varepsilon > 0$ , we can find a  $T > 0$  such that for  $\omega \geq 0$ ,

$$\begin{aligned} & \frac{2(T - \alpha_m)}{\lambda} (y_m - x, J(y_m - u_j)) \\ = & \frac{2t_m^{n_m}}{\lambda} \frac{1}{n_m} \sum_{k=1}^{n_m} (y_m - x, J(y_m - u_j)) \\ \leq & e^{2\omega T} \frac{2t_m^{n_m}}{\lambda} \frac{1}{n_m} \sum_{k=1}^{n_m} e^{-2k\omega t_m} (y_m - S(kt_m)u_j) + \frac{2t_m^{n_m}}{\lambda} \varepsilon \\ \leq & e^{2\omega T} \|y_m - u_j\|^2 - \|y_m - S(t_m^{n_m})u_j\|^2 + \frac{2T}{\lambda} \varepsilon \end{aligned}$$

where  $n_m$  is an integer such that  $T = n_m t_m + \alpha_m$  and  $0 \leq \alpha_m < t_m$ . Hence we have

$$\begin{aligned} & \frac{2T}{\lambda} \text{LIM}(y_m - x, J(y_m - u_j)) \\ \leq & e^{2\omega T} n\phi_j - \phi(S(T)u_j) + \frac{2T}{\lambda} \varepsilon \end{aligned}$$

for all  $j$ . Since  $\phi(u_j) \leq L + \frac{2T}{\lambda} \varepsilon$  for all  $j \geq n_0(\varepsilon)$ , we obtain

$$\begin{aligned} & \text{LIM } (y_m - x, J(y_m - u_j)) \\ & \leq \frac{(e^{2\omega T} - 1)\lambda}{2T} L + (e^{2\omega T} + 1)\varepsilon \end{aligned} \quad (3.6)$$

for all  $j \geq n_0(\varepsilon)$ . Combining (3.5) and (3.6) and letting  $T \downarrow 0$ , we have  $L \leq \phi(u_j) \leq \lambda \omega L$  for all  $j \geq n_0(\varepsilon)$  and hence  $L = 0$ . Thus  $\{u_j\}$  is a Cauchy sequence and hence  $\phi(u) = 0$  for some  $u \in C$ . For  $\omega < 0$ , by setting  $\omega = -\omega'$  with  $\omega' > 0$ , we have the same result. Thus there is a subsequence  $\{y_{m_k}\}$  of  $\{y_m\}$  such that  $m_k \downarrow 0$  and  $\{y_{m_k}\}$  is strongly convergent to  $u$ .

Now suppose that strong  $\lim_{t_m \downarrow 0} y_{t_m} = u$  and strong  $\lim_{t_{m'} \downarrow 0} y_{t_{m'}} = v$ . We complete the proof of the theorem by showing that  $u = v$ .

To this end, let  $\varepsilon > 0$  be given and define integer  $\{n_m\}$  by  $0 < T = n_m t_m + \alpha_m$ , where  $0 \leq \alpha_m < t_m$ . For  $1 \leq k \leq n_m$ , we have

$$\begin{aligned} & (y_{t_m} - x, J(y_{t_m} - S(kt_m) y_{t_{m'}})) - (u - x, J(u - v)) \\ & = (y_{t_m} - u, J(y_{t_m} - S(kt_m) y_{t_{m'}})) + (u - x, J(y_{t_m} - S(kt_m) y_{t_{m'}})) \\ & \quad - (u - x, J(u - v)), \end{aligned}$$

and

$$\begin{aligned} \|S(kt_m) y_{t_{m'}} - v\| & \leq \|S(kt_m) y_{t_{m'}} - S(kt_m) v\| + \|S(kt_m) v - v\| \\ & \leq e^{k\omega t_m} \|y_{t_{m'}} - v\| + \alpha(T, v). \end{aligned}$$

Consequently,

$|(y_{t_m} - x, J(y_{t_m} - S(kt_m) y_{t_{m'}})) - (u - x, J(u - v))| < \varepsilon$   
if  $t_m, t_{m'}$ , and  $T$  are small enough. It follows that for  $\omega \geq 0$ ,

$$\begin{aligned} & \frac{2(T - \alpha_m)}{\lambda} (u - x, J(u - v)) \\ & = \frac{2n_m t_m}{\lambda} \frac{1}{n_m} \sum_{k=1}^{n_m} (u - x, J(u - v)) \\ & \leq e^{2\omega T} \frac{2n_m t_m}{\lambda} \frac{1}{n_m} \sum_{k=1}^{n_m} e^{-2\omega k t_m} (y_{t_m} - x, J(y_{t_m} - S(kt_m) y_{t_{m'}})) + \frac{2n_m t_m}{\lambda} \varepsilon \\ & \leq e^{2\omega T} \|y_{t_m} - y_{t_{m'}}\|^2 - \|y_{t_m} - S(n_m t_m) y_{t_{m'}}\|^2 + \frac{2T}{\lambda} \varepsilon, \end{aligned}$$

and

$$\frac{2T}{\lambda} (u - x, J(u - v))$$



On generators and nonlinear semigroups in Banach spaces

$$\leq e^{2\omega T} \|u - y_{t_m}\|^2 + \|u - S(T)y_{t_m}\|^2 + \frac{2T}{\lambda} \varepsilon.$$

This last inequality holds all small enough  $T$  and  $t_m$ . Choosing  $T = t_m$ , we obtain

$$\begin{aligned} & \frac{2T}{\lambda} (u - x, J(u - v)) \\ & \leq e^{2\omega T} \|u - y_T\|^2 - \|u - y_T - \frac{T}{\lambda} (y_T - x)\|^2 + \frac{2T}{\lambda} \varepsilon \\ & \leq e^{2\omega T} \|u - y_T\|^2 - \|u - y_T\|^2 + \frac{2T}{\lambda} (y_T - x, J(u - y_T)) + \frac{2T}{\lambda} \varepsilon \end{aligned}$$

so that

$$\begin{aligned} & \{(u - x, J(u - v)) - (y_T - x, J(u - y_T))\} \\ & \leq \frac{(e^{2\omega T} - 1)\lambda}{2T} \|u - y_T\|^2 + \varepsilon. \end{aligned}$$

Letting  $T \downarrow 0$ , we obtain  $\|u - v\|^2 (1 - \lambda\omega) \leq 0$ , and hence  $\|u - v\|^2 \leq 0$ . For  $\omega < 0$ , we have same result. Thus  $u = v$  and the strong  $\lim_{t \downarrow 0} y_t$  exists. This completes the proof.

Notation. We write  $J_\lambda x = \lim_{t \downarrow 0} (I + \frac{\lambda}{t} (I - S(t)))^{-1} x = \lim_{t \downarrow 0} J_{\lambda, t} x$  for  $\lambda > 0$  such that  $\lambda\omega < 1$ .

#### 4. Generators of Semigroups

Recall that a Banach space  $E$  possesses the Radon-Nikodym property if and only if every function  $g : [0, 1] \rightarrow E$  of bounded variation is differentiable almost everywhere (cf. [8]).

The following theorems are partially extensions of [13, Theorem 3.1] and [14, Theorem 3]. We include proofs for completeness.

**THEOREM 4.1.** *Let  $E$  be a Banach space with a uniformly Gâteaux differentiable norm. Let  $C$  be a closed convex subset of  $E$  and  $S \in Q_\omega(C)$ . If  $S(t)x$  is uniformly continuous on bounded  $(t, x)$  sets and  $E$  has the Radon-Nikodym property, then the strong generators  $A_0$  of  $S(t)$  has a dense domain in  $C$ .*

*Proof.* For positive  $T$ , let  $T = n_t t + \alpha_t$  where  $n_t$  is an integer and

$0 \leq \alpha_t < t$ . For  $1 \leq k \leq n_t$ , we have

$$\begin{aligned} & \|S(kt)J_{\lambda, t}x - J_{\lambda, t}x\| \\ & \leq e^{(k-1)\omega t} \|S(t)J_{\lambda, t}x - J_{\lambda, t}x\| + \|S((k-1)t)J_{\lambda, t}x - J_{\lambda, t}x\| \\ & = \frac{te^{(k-1)\omega t}}{\lambda} \|J_{\lambda, t}x - x\| + \|S((k-1)t)J_{\lambda, t}x - J_{\lambda, t}x\|. \end{aligned}$$

Summing, we have

$$\|S(T - \alpha_t)J_{\lambda, t}x - J_{\lambda, t}x\| \leq \frac{tn_t}{\lambda} \frac{1}{n_t} \sum_{k=0}^{n_t} e^{k\omega t} \|J_{\lambda, t}x - x\|,$$

so that

$$\|S(T)J_{\lambda}x - J_{\lambda}x\| \leq \frac{T}{\lambda} \left( \frac{1}{T} \int_0^T e^{\sigma\omega} d\sigma \right) \|J_{\lambda}x - x\| = \frac{e^{\omega T} - 1}{\lambda\omega} \|J_{\lambda}x - x\|.$$

This means that  $S(t)J_{\lambda}x$  is Lipschitzian, and hence differentiable almost everywhere. From inequality (3.1), (3.2),  $\lim_{\lambda \downarrow 0} J_{\lambda}x = x$ . Thus given  $x \in C$  and  $\varepsilon > 0$ , we first find  $\lambda$  such that  $0 < \lambda$  and  $\lambda\omega < 1$  with  $\|J_{\lambda}x - x\| < \frac{\varepsilon}{2}$ , and then a small enough  $t_0$  such that  $S(t)J_{\lambda}x$  is differentiable at  $t_0$  and  $\|S(t_0)J_{\lambda}x - J_{\lambda}x\| < \frac{\varepsilon}{2}$ . We obtain  $\|S(t_0)J_{\lambda}x - x\| < \varepsilon$  and  $S(t_0)J_{\lambda}x \in D(A_0)$ . Since  $x$  is arbitrary,  $\text{cl}(D(A_0)) = C$ .

**THEOREM 4.2.** *Let  $E, C, S$  and  $A_0$  be as in Theorem 4.1. Let*

$$\tilde{A} = \bigcup_{\substack{\lambda > 0 \\ \lambda\omega > 1}} \left\{ \left[ J_{\lambda}x, \frac{x - J_{\lambda}x}{\lambda} \right] : x \in C \right\} \cup A_0.$$

*If  $A$  is  $\text{cl}(\tilde{A})$  in  $E \times E$ , then  $A$  has following properties:*

- (i)  $A_0 \subset A$ ,  $\text{cl}(D(A)) = C$  and  $A$  is closed
- (ii)  $A + \omega I$  is accretive
- (iii)  $C \subset R(I + \lambda A)$  for  $\lambda > 0$  such that  $\lambda\omega < 1$
- (iv)  $S(t)x = \lim_{n \rightarrow \infty} \left( I + \frac{t}{n} A \right)^{-n} x$  for all  $x \in C$ .

*Proof.* Clearly  $A_0 \subset A$ ,  $D(A) \subset C$ ,  $C \subset R(I + \lambda A)$  for all  $\lambda > 0$ , and  $A$  is closed. For  $x \in C$ , (3.1), (3.2) imply that  $\lim_{\lambda \downarrow 0} J_{\lambda}x = x$ , and hence  $\text{cl}(D(A)) = C$ .

Our next step is to prove that  $A + \omega I$  is accretive. Let  $\varepsilon > 0$  be given and define integers  $\{n_t\}$  by  $0 < T = n_t t + \alpha_t$ ,  $0 \leq \alpha_t < t$ . Then from (3.3) and (3.4), we have, for all  $x, z \in C$  and  $\omega \geq 0$  (if  $\omega < 0$ , put  $\omega = -\omega'$  with  $\omega' > 0$ ),

$$\frac{2(T - \alpha_t)}{\lambda} (J_{\lambda, t}x - x, J(J_{\lambda, t}x - z)).$$

On generators and nonlinear semigroups in Banach spaces

$$\begin{aligned}
&= \frac{2tn_t}{\lambda} \frac{1}{n_t} \sum_{k=1}^{n_t} (J_{\lambda, t}x - x, J(J_{\lambda, t}x - z)) \\
&\leq e^{2\omega T} \frac{2tn_t}{\lambda} \frac{1}{n_t} \sum_{k=1}^{n_t} e^{-2\omega t} (J_{\lambda, t}x - x, J(J_{\lambda, t}x - S(kt)z)) + \frac{2tn_t}{\lambda} \varepsilon \\
&\leq e^{2\omega T} \|J_{\lambda, t}x - z\|^2 - \|J_{\lambda, t}x - S(tn_t)z\|^2 + \frac{2T}{\lambda} \varepsilon
\end{aligned}$$

and

$$\begin{aligned}
&\frac{2T}{\lambda} (J_{\lambda}x - x, J(J_{\lambda}x - z)) \\
&\leq e^{2\omega T} \|J_{\lambda}x - z\|^2 - \|J_{\lambda}x - S(T)z\|^2 + \frac{2T}{\lambda} \varepsilon.
\end{aligned}$$

Consequently, it follows that

$$\begin{aligned}
&\frac{2}{\lambda} (J_{\lambda}x - x, J(J_{\lambda}x - z)) + 2 \left( \frac{z - S(T)z}{T}, J(J_{\lambda}x - z) \right) \\
&\leq \left( \frac{e^{2\omega T} - 1}{T} \right) \|J_{\lambda}x - z\|^2 + \frac{2\varepsilon}{\lambda}. \tag{4.1}
\end{aligned}$$

Thus, if we take  $z = J_{\mu, T}x'$  in (4.1), then, by letting  $T \downarrow 0$ , we have

$$\begin{aligned}
&\frac{2}{\lambda} (J_{\lambda}x - x, J(J_{\lambda}x - J_{\mu}x')) - \frac{2}{\mu} (J_{\mu}x' - x', J(J_{\lambda}x - J_{\mu}x')) \\
&\leq 2\omega \|J_{\lambda}x - J_{\mu}x'\|^2,
\end{aligned}$$

and hence

$$\left( \frac{1}{\lambda} (x - J_{\lambda}x) + \omega J_{\lambda}x - \frac{1}{\mu} (x' - J_{\mu}x') - \omega J_{\mu}x', J(J_{\lambda}x - J_{\mu}x') \right) \geq 0. \tag{4.2}$$

On the one hand, if we take  $z = x' \in D(A_0)$  in (4.1), then, by letting  $T \downarrow 0$ , we have

$$\begin{aligned}
&\frac{2}{\lambda} (J_{\lambda}x - x, J(J_{\lambda}x - x')) + 2(A_0x', J(J_{\lambda}x - x)) \\
&\leq 2\omega \|J_{\lambda}x - x'\|^2
\end{aligned}$$

and hence

$$\left( \frac{1}{\lambda} (x - J_{\lambda}x) + \omega J_{\lambda}x - A_0x' - \omega x', J(J_{\lambda}x - x') \right) \geq 0. \tag{4.3}$$

On the other hand, if  $x, x' \in D(A_0)$ , then we have

$$(S(t)x - S(t)x', J(x - x')) \leq e^{\omega t} \|x - x'\|^2$$

and hence

$$\left( \frac{S(t)x - x}{t} - \frac{S(t)x' - x'}{t}, J(x - x') \right) \leq \frac{e^{\omega t} - 1}{t} \|x - x'\|^2.$$

Letting  $t \downarrow 0$ , we have

$$(A_0x + \omega x - A_0x' - \omega x', J(x - x')) \geq 0. \quad (4.4)$$

Therefore we conclude from (4.2), (4.3) and (4.4) that  $A + \omega I$  is accretive.

Finally we complete the proof of the theorem by showing (iv).

To this end, let  $x \in D(A_0)$  and consider  $u(t) = S(t)x$ . Then the function  $t \rightarrow u(t)$  is locally Lipschitzian on  $[0, \infty)$ , and hence differentiable a. e. on  $[0, \infty)$ . Thus we have  $du/dt + A_0u = 0$  a. e. on  $[0, \infty)$ . From this fact,

$$\frac{du(t)}{dt} + Au(t) \ni 0 \quad \text{a. e. on } [0, \infty).$$

On the other hand, by Theorem 2.1,  $A$  generates a continuous semigroup  $\tilde{S}$  of type  $\omega$  via the exponential formula (2.3). On the other hand, by Theorem 2.2, we have for all  $x \in D(A_0)$ ,  $u(t) = \tilde{S}(t)x$  because  $x \in D(A)$  and  $u(t)$  is a strong solution of  $du(t)/dt + Au(t) \ni 0$ . Therefore for all  $x \in D(A_0)$ , we have  $S(t)x = \tilde{S}(t)x$ . Thus, by continuity,  $S = \tilde{S}$ . This completes the proof.

### References

1. J.B. Baillon, *Générateurs et semi-groupes dans les espaces de Banach uniformément lisses*, J. Functional Analysis **29**(1978), 199-213.
2. V. Barbu, *Nonlinear semigroups and differential equations in Banach spaces*, Editura Academiei R.S.R., Bucuresti, 1976.
3. H. Brezis, *Opérateurs maximaux monotones et semi-groupes de contraction dans les espaces de Hilbert*, Math. Studies, Vol.5 North-Holland, Amsterdam, 1973.
4. H. Brezis and A. Pazy, *Accretive sets and differential equation in Banach-spaces*, Israel J. Math. **8**(1970), 367-383.
5. M. Crandall and T. Liggett, *Generation of semigroups of nonlinear transformations on general Banach spaces*, Amer. J. Math. **93**(1971), 265-298.
6. M.M. Day, *Normed Linear Spaces*, 3rd ed., Springer-Verlag, Berlin/New York, 1973.
7. J. Diestel, *Geometry of Banach Spaces-Selected Topics*, Lectures Notes in Mathematics, No.485, Springer-Verlag, Berlin/New York, 1975.
8. J. Diestel and J.J. Uhl, Jr., *The Radon-Nikodym theorems for Banach space valued measures*, Rocky-Mountain J. Math. **6**(1979), 1-46.
9. T. Kato, *Differentiability of nonlinear semigroups, in Global Analysis*, Proc. Symp. Pure Math. Amer. Math. Soc., 1970.

On generators and nonlinear semigroups in Banach spaces

10. Y. Komura, *Nonlinear semigroups in Hilbert spaces*, J. Math. Soc. Japan **19**(1967), 493-507.
11. Y. Komura, *Differentiability of nonlinear semigroups*, J. Math. Soc. Japan **21**(1969), 375-402.,
12. I. Miyadera, *Some remarks on semigroups of nonlinear operators*, Tôhoku Math. **23**(1971), 245-258.
13. S. Reich, *Product formula, nonlinear semigroups, and accretive operators*, J. Functional Analysis **36**(1980), 147-168.
14. S. Reich, *A nonlinear Hille-Yosida theorem in Banach spaces*, J. Math. Anal. Appl. **84**(1981), 1-5.

Pusan National University  
Pusan 609-735, Korea  
and  
Dong-A University  
Pusan 604-714, Korea